Activity 6

The Ryder Cup is normally played over three days – Friday, Saturday and Sunday.

Although the event was scheduled for three days, because of bad weather, the final day was postponed to the Monday.  This disrupted the plans of many people, some of which did not have hotel reservations for the Sunday evening.  Other people, not interested in the Ryder Cup, had made reservations for hotel rooms on Sunday.

The situation is explained by a hotel manager using the link below:

http://www.bbc.co.uk/news/uk-wales-11458737 
Identify and explain 5 problems and possible negative impacts which might result from the final day of the Ryder Cup being postponed to the Monday.

Issue/impact 1

___________________________________________________________

___________________________________________________________

Issue/impact 2

___________________________________________________________

___________________________________________________________

Issue/impact 3

___________________________________________________________

___________________________________________________________

Issue/impact 4

___________________________________________________________

___________________________________________________________

Issue/impact 5

___________________________________________________________

___________________________________________________________

